Parts List

PPC-200W

Canada
Tel (604) 533-2338 Fax (604) 533-0827

YAMATO TECH CORPORATION

#112-19425 Langley By-Pass

Surrey, B.C. V3S 6K1

Colorado Springs, CO 80916 USA
Tel (719) 591-1500 Fax (719) 591-1045

YAMATO CORPORATION

1775 S. Murray Blvd.

Yamato

YCO-1050-02-03

12



PPC-200W

Parts List
N

ITEM PART NUMBER DESCRIPTION QTY
1 Hex Bolt, M4 x 30, 2 kg/4 kg 4
2 Hex Bolt, M5 x 30, 10 kg/20 kg 4
3 Hex Head Screw, M3 x 12, 2 kg/4 kg 4
4 Hex Head Screw, M3 x 12, 10 kg/20 kg 4
5 Tapping Screw, M3 x 8 4
6 Hex Nut, M4, 2 kg/4 kg 5
7 Hex Nut, M5, 10 kg/20 kg 4
8 YAM-1249-200008 Phillips Screw, M4 x 18, 2 kg/4 kg 8
9 YAM-1249-200009 Phillips Screw, M5 x 18, 10 kg/20 kg 8
10 YAM-1249-200010 Tapping Screw, M3 x 10 12
1 YAM-1249-200011 Tapping Screw, M3 x 16 2
12 YAM-1249-200012 Tapping Screw, M4 x 16 3
13 YAM-1249-200013 Sealing Washer, M4, 2 kg/4 kg 4
14 YAM-1249-200014 Sealing Washer, M5, 10 kg/20 kg 4
15 Cup Screw, M4 x 40, 2 kg/4 kg 1
16 YAM-1249-200016 Nylon Washer 2
17 YAM-1249-200017 Front Mask Assembly 1
18 YAM-1249-200118 Load Cell Assy, 4 1b/2 kg Capacity 1
19 YAM-1249-200119 Load Cell Assy, 10 Ib/4 kg Capacity 1
20 YAM-1249-200120 Load Cell Assy, 20 Ib/10 kg Capacity 1
21 YAM-1249-200121 Load Cell Assy, 40 Ib/20 kg Capacity 1
22 YAM-1249-200022 Red Wire, 300 mm 1
23 YAM-1249-200023 Black Wire, 430 mm 1
27 YAM-1249-200027 CPU Board Assembly 1
28 YAM-1249-200028 Platform Cover, S.S. 1
29 YAM-1249-200029 Level Indicator 1
30 YAM-1249-200030 Sealing Screw 1
32 YAM-1249-200032 Upper Housing Assembly (Includes 17) 1
33 YAM-1249-200033 Lower Housing 1
35 YAM-1249-200035 Platform Support Assembly (Includes 38) 1
36 YAM-1249-200036 Platform Support, Lower 1
37 YAM-1249-200037 Lid, Battery Box 1
38 YAM-1249-200038 Cushion, Rubber, Platform 4
39 YAM-1249-200039 Thumbscrew 2
40 YAM-1249-200040 Spring A, Battery Box 2
4 YAM-1249-200041 Spring B, Battery Box 2
47 YAM-1249-200047 Leveling Leg 4
54 YAM-1249-200054 Sticker, 4 Ib, 200W 1
55 YAM-1249-200055 Sticker, 80 oz, 200W-C 1
56 YAM-1249-200056 Sticker, 5 Ib, 200W-Z 1
57 YAM-1249-200057 Sticker, 10 Ib, 200W 1
58 YAM-1249-200058 Sticker, 160 oz, 200W-C 1
59 YAM-1249-200058 Sticker, 10 Ib, 200W-Z 1
60 YAM-1249-200058 Sticker, 20 Ib, 200W 1
61 YAM-1249-200058 Sticker, 320 oz, 200W-C 1
62 YAM-1249-200062 Sticker, 20 Ib, 200W-Z 1
63 YAM-1249-200063 Sticker, 40 Ib, 200W 1
64 YAM-1249-200064 Sticker, 800 oz, 200W-C 1
65 YAM-1249-200065 Sticker, 50 Ib, 200W-Z 1
72 YAM-1249-200072 Diaphragm 1
73 YAM-1249-200073 Gasket, Display 1
75 YAM-1249-200075 AC Adaptor Plug 1
76 YAM-1249-200076 Gasket, Battery 1

J

2/2

YCO-1050-02-03



